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QUESTION 1

In the offline charging architecture, which path protocol and registered port number help to transport the CDRs from the
CDFs to the CGF over the Ga reference point?

A. UDP src.port and dest.port as 2123
B. UDP src.port random and dest.port as 3386
C. TCP src.port and dest.port as 3386
D. UDP src.port random and dest.port as 2123

Correct Answer: B

QUESTION 2

A subscriber is moving from LTE to GERAN/UTRAN and the SGSN is Release 7 3GPP. Which two statements about
this situation are true? (Choose two.)

A. The SGW has a GTPv2 tunnel towards SGSN
B. The PGW has a GTPv2 tunnel towards SGSN
C. The PGW has a GTPv1 tunnel on the S8 interface toward the SGW.
D. The PGW has a GTPv2 tunnel on the S8 interface toward the SGW.

Correct Answer: AD

QUESTION 3

Exhibit:
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[Tocal]LTE# show sgw-service all

Service name I SGW-5VC
service-Id : 17
Context : EPC
Accounting context : EPC
ACcounting gtpp group : defaultc
Accounting mode I gtpp
Accounting stop-trigger : Default
status : STARTED
Egress protocol : grp
Ingress EGTP service : Ingress—-5GW
Egl"ESS context : EPC
EQgress EGTP service : EQress-5GW
Egress MAG service : nfa
IMS auth. serwvice : 511-s5vC
Accounting policy : MME-SGW
Newcall policy : nfa
QCI-Q05 mapping table : n/a
Event Reporting : Disabled
poN Throttling : Disabled
Page UE for PGW initiated proc: Disabled
PLMN ID List : MCC: 123, MNC: 456 [Primary]

Refer to the exhibit. Which interface is associated to reference point between the MME and the SGW?
A. EPC

B. Ingress-SGW

C. Egress-SGW

D. MME-SVC

E. S11-SVC

Correct Answer: B

QUESTION 4

Exhibit:
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3

#exit
aza

radius
radius
radius
radius

radius

radius

radius
#exit

aaa group
radius
radius
radius
radius
radius

radius

radius

radius
#exit

radius

radius

radius
#exit

aaa group
radius
radius
radius

#exit

Context Gi-Context-1

apn pgw-test

ection-mode subscribed

ip address pool name pgw—ﬁao1—1
authentication msisdn-aut
apn-ambr rate-limit direction downlink burst-size auto-readjust duration 1 violate-action drop
apn-ambr rate-limit direction uplink burst-size auto-readjust duration 1 wviclate-action drop
ip context-nane Gi-Context-2

mediation-device no-interims delay-GTP-response

roup radius-1
radius accounting deadtime 1

accounting max-retries 0
accounting max-transmissions 4

attribute nas-ip-address address 192.168. 58.

attribute nas-identifier DNGS0-NGME-1

no radius accounting archive

dictionary 3gpp
server 10.24.59.75 key ciscol port 1812
accounting server 10.24.59.75 encrypted key

radius-2

accounting deadtime 4
accounting max-retries 2
accounting max-transmissions 5

attribute nas-ip-address address 192.168.58.

attribute nas-identifier DNGBES0-NGME-1

no radius accounting archive

dictionary 3gpp
server 10.24.59.76 key ciscol port 1812

mediation-device accounting server 10.24.50.

Context Gi-Context-2

aaa group radius-3
attribute nas-ip-address address 191.167.57.

server 10.0.133.10 key ciscol port 1812
accounting server 10.0.133.10 encrypted key

radius-4

attribute nas-ip-address address 191.167.57.

server 10.0.133.11 key ciscol port 1812

mediation-device accounting server 10.0.133.

198

01abd002c82blaZc port 1813

lo8

76 encrypted key 01abd002cB2b4aZc port 1813

190

0labd002c82biaZc port 1813

1951

11 encrypted key 01abd002Zc82b4aZc port 1813

Refer to the exhibit. Which aaa group must be associated with the APN pgw-test?

A. radius-2

B. radius-1

C. radius-4

D. radius-3

Correct Answer: B

QUESTION 5

Which option describes the function of ENUM in Voice over LTE?

A. It converts SIP URI to Telco URI.

B. It is used for the call forwarding service.
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C. It assigns a telephone number to an IMS UE.

D. It generates a query in the e164.arpa domain.

Correct Answer: D

Latest 600-212 Dumps 600-212 Practice Test 600-212 Study Guide

Latest 600-212 Dumps | 600-212 Practice Test | 600-212 Study Guide 5/5


https://www.geekcert.com/600-212.html
https://www.geekcert.com/600-212.html
https://www.geekcert.com/600-212.html
http://www.tcpdf.org
https://www.geekcert.com/600-212.html
https://www.geekcert.com/600-212.html
https://www.geekcert.com/600-212.html

